Mr. Rea’s Fabulous Fifty Questions for the Global Regents

The following are fifty multiple choice questions that you are likely to find on the Global History Regents. You should know these to the point where you can recognize them no matter how they are asked. The questions are somewhat predictable, they are just presented in various ways. You will also receive an Answer Key and Explanation Sheet. You should do these questions first and then refer to the Answer Key and fully read and understand why the correct answer is the correct answer. This is by no means a complete representation of all the things you need to do well on the Regents, but it should be very useful.

1  The Neolithic Revolution is often considered a turning point in history because

1. city dwellers learned to control fire

2. societies became more nomadic

3. nuclear families evolved into extended families

4. permanent settlements developed in river valleys

2. The ancient civilizations of Mesopotamia and Egypt were similar in that both cultures

1. developed along rivers

2. used the ziggurat form for their temples

3. established trade routes to China

4. used a hieroglyphic writing system

“If a seigner (noble) has knocked out the tooth of a seigner of his own rank, they shall knock out his tooth. But if he has knocked out a commoners tooth, he shall pay one-third mina of silver.”









-Code of Hammurabi

3. Which idea of Babylonian society does this portion of the Hammurabi code of law reflect?
1. all men are equal under the law

2. fines were preferable to corporal punishment

3. divisions existed between social classes

4. violence was always punished with violence

4. The Ancient Athenians are credited with 
1. inventing and using the wheel

2. eliminating slavery

3. establishing governments that had democratic elements

4. inventing the printing press

5. The Ancient Romans’ most significant contribution to Europe has been in the area of

1. economics


3. drama

2. poetry



4. law

6. According to the teachings of Confucius, the key to the successful organization of society is that

1. the ruler should be chosen democratically

2. the evil in humans must be eliminated

3. ancestor worship should be discontinued

4. individuals should know and do what is expected of them

7. The Buddhist religion teaches that salvation is earned by

1. following the Ten Commandments

2. worshiping Allah as the one true god

3. learning to give up selfish desire

4. being baptized and confirmed

8. Constantinople was a thriving city in the 1200s mainly because of

1. it was a center for the Islamic religion

2. its location on a major trade route between Asia and eastern Europe

3. its conquering of the Roman Empire

4. its close ties with England

9. Feudalism in Western Europe was similar to feudalism in Japan in that
1. power was based on class relationships

2. equality among the classes

3. direct democracy

4. monotheism

 10. “All things were under its domain…its power was such that no one could hope to escape its scrutiny.”
Which European institution during the Middle Ages is best described by this statement?

1. the Guild


3. the nation state

2. Knighthood


4. the Church
11. One similarity between the kingdoms of Ghana, Mali, and Songhai is that all of these kingdoms were located

1. in mountain terrain

2. in coastal areas

3. on major trading routes

4. in rain forest areas

12. Which activity occurred during the Golden Age of Muslim culture?

1. destruction of books containing Greek and Roman ideas

2. beginning of pilgramages to Mecca

3. opposition to freedom of thought and to foreign ideas by rulers

4. major discoveries in mathematics and science

13. In Europe, a long-term effect of the Crusades was

1. the strengthening of the feudal system

2. the adoption of Islamic religious practices

3. an increased demand for goods from the East

4. increased European isolation

14. Which statement best describes a characteristic of the Renaissance in Europe?

1. the social structure became very rigid

2. creativity in the arts was encouraged

3. the political structure was similar to that of the Roman Empire

4. humanism decreased in importance
15. Which idea about leadership would Niccolo Machiavelli most likely support?

1. leaders should do whatever is necessary to achieve their goals

2. leaders should fight against discrimination and intolerance

3. leaders should listen to the desires of the people

4. elected leaders should be fair and good

16. Martin Luther’s Ninety-Five Theses were a call for

1. religious revolt against the German princes

2. reforms within the Roman Catholic Church

3. greater papal authority

4. crusades to spread Christianity

17.  Which was an immediate result of the European Age of Exploration?

1. Islamic culture spread across Africa and Asia

2. European influence spread to the Western hemisphere

3. independence movements developed in Asia and Africa

4. military dictatorships were established throughout Europe

18. A study of the Maya, Aztec, and Inca civilizations of Latin America would show that these civilizations

1. developed advanced and complex societies before the arrival of the Europeans

2. established extensive trade with Pacific Rim nations
3. were strongly influenced by their contact with Asian and African civilizations

4. were relatively large, but not well organized

19. A main goal of the monarchs of Europe during the Age of Absolutism was to

1. establish legislative bodies

2. centralize political power

3. improve the quality of life for the peasant class

4. expand the role of the Catholic Church

20. Which pair of ideas were central to the Scientific Revolution?

1. social stability and economic self-sufficiency

2. observation and experimentation

3. technology and military expansion

4. scarcity and interdependence

21. Jean-Jacques Rousseau and John Locke both agreed that a government should be based on the

1. separation of nationalities

2. religious values of the people

3. equal distribution of wealth

4. consent of the governed

22. One important result of the French Revolution was that

1. France enjoyed a lengthy period of peace and prosperity

2. the church was restored to its former role and power in the French government

3. political power shifted to the bourgeoisie

4. France lost its spirit of nationalism

23. The French people supported Napoleon Bonaparte because they hoped he would

1. adopt the ideas of the protestant Reformation

2. restore Louis XVI to power

3. provide stability for the nation

4. end British control of France

24. During the early 1800’s, which was a major influence on the struggle for political independence in Latin America?

1. poor conditions in urban centers in Latin America

2. the desire of the Roman Catholic Church in Latin America to escape European control

3. demands by Latin American workers to own their own factories

4. the American and French Revolutions

25. Nationalism is most likely to develop in an area that has

1. land suited to agriculture

2. adequate industry to supply consumer demands

3. a moderate climate with rivers for irrigation

4. common customs, language, and history

26. The best example of the success of nationalism in Europe is the

1. development of socialism in France

2. Industrial Revolution in Great Britain

3. establishment of the Common Market

4. unification of Germany

27. A major result of the Industrial Revolution was the

1. concentration of workers in urban areas

2. increased desire of the wealthy class to share its power

3. formation of powerful craft guilds

4. control of agricultural production by governments

28. According to Karl Marx, history is the record of the

1. granting of political liberties to all people

2. struggle between classes in society

3. wars and conflicts between national leaders

4. increasing prosperity brought about by industrialization

29. In Japan, the Meiji Restoration resulted in the

1. division of the nation between the European powers

2. modernization of the nation’s industry

3. abolition of the position of emperor

4. government being controlled by the samurai

30. After 1880, European nations sought colonies in Africa primarily because the Europeans were

1. in need of land for their surplus populations

2. competing of raw materials and markets

3. determined to bring Christianity to the Moslem world

4. interested in completing their geographic knowledge of the world

31. The Boxer Rebellion of the early 20th century was an attempt to

1. eliminate poverty among the Chinese peasants

2. bring western-style democracy to China

3. restore trade between China and European nations

4. remove foreign influences from China

32. A major cause of World War I was

1. a decline in the policy of imperialism

2. the existence of opposing alliances

3. an increase in acts of aggression by England

4. the spread of communism throughout Europe
33. A major cause of the Russian Revolution of 1917 was the

1. defeat of Germany in the Russian campaign

2. marriage of Czar Nicholas II to a German princess

3. existence of sharp economic differences between social classes

4. appeal of Marxism to the Russian nobility

34. Which is an accurate statement about the Soviet economy under the leadership of Joseph Stalin?

1. A large selection of consumer goods became available

2. The Soviet Union increased its industrial output by developing heavy industry

3. Private farmers were encouraged to sell their surplus produce in an open market

4. The government reduced its role in planning industrial production

35. The harsh conditions imposed by the Treaty of Versailles after World War II helped lay the foundation for the

1. Rise of fascism in Germany

2. Uprisings during the French Revolution

3. Division of Korea along the 38th parallel

4. Bolshevik Revolution in Russia

36. Which was a characteristic of Germany under Adolf Hitler and the Soviet Union under Josef Stalin?

1. An official foreign policy of isolationism

2. Public ownership of business and industry

3. The absence of a written constitution

4. Governmental control of the media

37. Which is generally a characteristic of a communist economy?

1. Investment is encouraged by the promise of large profits

2. The role of government in the economy is restricted by law

3. Government agencies are involved in production planning

4. Entrepreneurs sell shares in their companies for the government
38. The Great Leap Forward in China and the Five-year Plans in the Soviet Union were attempts to increase

1. Private capital investment

2. Religious tolerance

3. Individual ownership of land

4. Industrial productivity

39. After World War II, the Chinese Communists were successful in their revolution mainly because the

1. United States refused to support the Nationalists

2. Communists had the support of the peasants

3. Communists had more technologically advanced weapons

4. Nationalists had been defeated by Japan

40. One way in which Kwame Nkurmah, Jomo Kenyatta, and Kenneth Kaunda are similar is that they all

1. Supported the United Nations military action in the Persian Gulf War
2. Rejected financial aid from the World Bank

3. Opposed the Pan-African movement

4. Played a major role in the independence movements in Africa

41. A major factor that continues to contribute to terrorist activities in the Middle East is

1. A decrease in crude oil prices on the world market

2. The Palestinian effort to establish a homeland

3. The presence of United Nations forces in Syria

4. The worldwide rejection of violence as a means to end conflict

42. In the Republic of South Africa, the primary goal of the African National Congress (ANC) has been to

1. Eliminate communist influence

2. Create a united Africa

3. Rule as the majority political party

4. Promote homeland areas for blacks

43. During the late 1980’s, the Soviet Union experienced internal unrest mainly as a result of

1. Widespread protests against involvement in Afghanistan

2. A lack of raw materials and natural resources

3. A failure to use modern technology in the military

4. Increased demands of minority ethnic groups

44. One way in which the travels of Marco Polo and Ibn Battuta are similar is that they resulted in

1. an increased interest in different cultures

2. the development of slavery

3. a reduction in trade

4. the discovery of East Asia

45. Which feature would most likely be included in an economic system based on traditional agriculture and self-sufficiency?

1. banks



3. gold standard

2. barter



4. tariffs

46. Which statement about the Green Revolution is most accurate?

1. It reduced the amount of chemical pollutants in the environment

2. It increased food output in many developing countries

3. It decreased dependence on fossil fuels

4. It attempted to end colonial rule
47. What was one of the primary reasons for the spread of the bubonic plague?

1. colonization of the Americas

2. development of the manorial system

3. economic decline

4. increase in trade

48. Which revolution led to the concept of banking, the creation of guilds, and the development of capitalism in Europe?

1. Commercial


3. Scientific
2. Agricultural


4. Industrial

49. One effect of the encomienda system in Latin America was that it

1. eliminated the use of guilds

2. promoted isolationism

3. exploited indigenous people

4. reduced Spanish influence

50. The invasion of Russia by France in 1812 and by Germany in World War II were unsuccessful in part because of the

1. Russian alliances with China

2. harsh climatic conditions in Russia

3. inexperience of French and German military leaders

4. failure of France and Germany to develop modern weapons

